iR EEB
B EHNBE=8

B =R BRESME (HRY) /N, B REATRETETHRIEBAL,

i

¥

HEx ey
B¢ 015
2 B3
o | e =
e i
I ot as
—Tik —'clg Iguv 1o
1[0y v w (O
\‘5\:_ \'3\:_
g (LTooTA - T
BCSR BCS
Y E R TS B R
TS [1[3e=3 - D#HAEIES - BFHRE
BCS - 6002-2Z - A
T W HEREEE
= =) Di H B A w E
2| elnele )l W & | mpme | Eume (BER) | | w: 7o5m
623-27 3 10 25 7 9 6 4 18 13 M4 -
624-27 4 13 28 9 10 7 5 21 15 -
605-27 5 14 32 10 10 7 5 23 17 -
625-27 16 34 12 10 7 5 25 19 -
606-27 6 17 35 13 11 8 6 26 20
626-27 19 37 15 11 8 6 28 22
608-27 8 22 40 18 12 9 7 31 26
628-27 24 42 20 13 10 8 33 29 M5
6900-27 22 40 19 11 8 6 31 26
6000-2Z 10 26 44 22 13 10 8 35 31 B
6200-27 30 48 24 14 " 9 39 35
6901-27 24 42 21 11 8 6 33 28
6001-27 12 28 46 24 13 10 8 37 33
BCSR 6201-27 32 50 26 15 12 10 41 37
BCS 6902-27 28 49 25 12 9 7 39 34
6002-27 15 32 53 28 14 " 9 43 37
6202-27 35 56 29 17 13 1" 46 41 M6
6903-2Z 30 51 27 12 9 7 41 35
6003-2Z 17 35 56 31 16 12 10 46 41
6203-27Z 40 61 34 18 14 12 51 47
6904-27 37 64 34 15 " 9 45 44 24
6004-27 20 42 69 36 18 14 12 46 51 32 M8
6204-27 47 74 40 20 16 14 50 55 34
6005-27 25 47 80 41 18 14 12 52 55 36 -
6205-27 52 85 45 22 17 15 56 61 39 -
6006-27 30 55 88 48 20 15 13 59 63 40 M0 -
6206-27 62 95 55 23 18 16 65 71 44 -
6007-2Z 35 62 95 55 21 16 14 65 71 44 -
6008-27 40 68 101 60 23 17 15 65 79 54 -
£ FHEBRET B RINKAZ, SUBRTESAE 0.1-0.2mm,
W 750
R EELE
= y
Ke % BHEKE o — =
A 454 1LY =
. . N MEH=SErE
oo sy B 45# FEBER
F ] 0Cr 18NS -

www.ant-fa.com

EZrmARESEREREEN

515



